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Questions 1 to 10 carry 1 mark each. Questions 11 o 15 cary 2 mariks sach.
For each guestion, four options are given. One of them is the correct answer.
Malke your choice and shade your answer {1, 2, 3 or 4) on the Optical Answer Sheet.

{20 marks)
1. What is the value of 30 ones, 30 tenths and 30 hundredths?
(1) 333
(2) 30.33
(3) 33.03
(4) 3330
2. Find the value of = + 2
9 3
3
1 P
&) 3
- 16
2 i
2) 57
1
3 -
3 1 3
11
A i
@ 16
3. Which of the following is the same as 4020 g ?
(1) 4kg 2g
(2) 4%g20g
(3) 40kg 2g
(4) 40kg20¢
{Go on fo the nexi page)
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4. Mrs Toh started her 20-minute jog at 6.35 a.m. After her jog, she did her
housework until 8.15 a.m. How much time did she spend doing her
housework?

(1) 1h20min
(2 1h40min
(3) 2h20min
(4) 2h40min

5. The table below shows the number of library books borrowed by some
pupils on a particular day.

Number of
books 0 1 2 3 4

borrowed
Numberof! ¢ 8 10 12 4
pupils

How many pupils borrowed at least 3 library books?

(1) 24

(2) 16

3) 12

4 4

6. Find the value of 33 - (18 ~ 12 + 3).

1) 1

2 9

{3) 19

4y 31

(Go on to the next page)
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In the dizgram below, the letters R, E, L, A and X are drawn on a square
grici.

=i B

o aar
NN T \

i

‘A

Which of the letters above have gmily 1 line of symmetry?

(1) AandE
(2) Aand X
(3) EandR
(4) LandX

(Go on to the next page)
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The figure below shows a pyramid.

Which one of the following is not a net of the pyramid?

(1) 2

3 (4)

(Go on to the next page)
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10.

11.

Fatimah spent 30% of her salary and stilf had $4200 of her salary [eft.
How much money did she spend?

(1) $600
(2) $980

(3) $1400
(4) $1800

The rectangle EFGH below is made up of 8 identical squares. What is
the ratio of the area of the shaded part o the area of the unshaded part?

E F

(1)
(2)
3
(4)

HOwWw A -
A

Jack and Bill had $300 aliogether. After Jack spent $60, he had twice as
much money as Bill. How much money did Bill have?

(1) $70
(2) $80

(3) $140

(4 160 |}

(Go on to the next page)
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12,

13.

In the figure below, ABCD is a rectangle. ZBAC = 34° and ZCED = 72°.
Find the value of ZACE.

(1)
(2)
3
(4)

A

B

72°

340

16°
1°
18°
27°

The pie chart shows the number of fruits sold at a fruit stall.

oranges

There are 65 pears and 100 mangoes at the stall. The number of
mangoes is twice the number of oranges. How many apples are there at

the stall?
(1) 115
(2) 145
(3) 165
185

-4

(Go on to the next page)
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16.

A balcer sold 400 cales in 5 days. Each day. he sold 7 calies fewer than
the previous day. Find the numbser of czakes he sofd on the first day.

(1)
(2)
(3)
@)

59
66
87
94

The figure below is made up of 3 identical squares, each with an area of
81 cm?. The squares overiap each other as shown below. The overiapped
parts are identical. Given that the area of the figure is 183 cm?, find the
area of each overlepped part. '

(1
(2)
(3)
4)

20 cm?
30 cm?
51 em?
60 cm?

{Go on fo Booklet B)
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Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

(10 marks)

16.  Round off 49 989 1o the nearest hundred.

Ans:

17- in a Mathematics test, Abel scored 64 marks, Bamey scored 68 marks and
Chris scored 48 marks. What was their average score for the test?

Ans:

18. Mrs Tee paid for 6 identical bowls with a fifty-dollar note.
She received $m change. Express the cost of 1 bowt in terms of m.

Ans: $

(Go on to the next page)

Do not write
in this space
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- 20.

The teble shows the postage charges for sending letiers.

Wass Ceost
First20 g $1.20 -
Every additional 10 g or part thereof $0.35

Wendy posted a letter weighing 38 g. How much money did she have {o pay

as postage?

Ans: $

Find the area of the triangle shown below.

9cm

\S]

Ans:

em?

(Go on to the nest page)
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%

Do not write
in this space

21. The graph below shows the number of durians sold from Monday to Friday.

30

20

10

Number of durians

Mon Tue Wed Thu Fri

What is the ratio of the number of durians sold on Wednesday to the total
number of durians sold over the five days?

Ans:

22. The pie chart below represents the number of spectators at a s6ccer match.
What fraction of the spectators is made up of men?
Give your answer in the simplest form

Ans:

(Go on to the next page)
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Do not witie

23. Find 2y in the figure below. —oh
in this spece

Ans:

24. in the figure below, ACE and BCD are siraight lines.
ZABC = 88°, ZCAB = 44° and ZCDE = 55°. Find ZCED.

Ans:
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25. Four identical 7-cm squares were cut out from a rectangular piece of grey Do not write
paper measuring 100 cm by 45 cm as shown below. Find the perimeter of | ™ this space
the remaining piece of grey paper.

100 cm

Ans: cm

(Go on to the next page)
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Questions 20 to 30 carry 2 marks each. Show your worlking clearly and wiite your Do not wite
answers in the spacss provided. For questions which reguire units, give your in this space
answers in the units statsd.

{10 mariks}

S M &

26> Sally used 2 identical pieces of ribbon fo tie a hamper. g of each piece of
s Tibbon was 4 m. Find the tofal length of the ribbon used. Express your answer

as a fraction in its simplest form.

Ly n

Ly 1

Ans: m

27. In the figure below, XYZ is an fsosceles #idngle.
Given that Z2XWV = 93°, ZUWV = 10° and AWUX =65°, find QY.

Ans: °

Gy
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28.

29.

The price of an eraser is :13- the price of a pencil. The price of a highlighter is

-;- the price of an eraser. Given that each highlighter costs $1.50, find the cost

of the pencil.

Ans: §

A childhood gameis played by rolling a wheel as shown below.

B - O L A

The radius of a wheel is 40 cm. What is the distance covered when the wheel

makes 10 complete turns? (Take = = 3.14)

-

Ans: cm

(Go on o the next pag

b ]
‘&_} |

Do not write
in this space
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Chioe collected 2 typss of boolunarks. The table shows the number of cach
e of boolunarls she had =t first.

Materials of beslunarks Number of boolmaris

Paper

69

Plastic

36

After Chioe's father gave her some paper bookmarics, the percentage of her
plastic bookmarks decreased to 20%. Find the total number of bookmarks

given to Chloe by her father.

Ans;

End of Paper 1

Do not write
in this spaca

o
1____.._
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MATHEMATICS
PRIMARY 6
PAPER 2
Parent's Signature
Name: ( )
Class: Primary 6 60

Time for Paper 2: 1 h 40 min

Do not tum over this page uniil you are told io do so.

Follow all instructions carefully.

Answer all guestions.

Show your working clearly as marks are awiarded for correct working.
Write your answers in this bookiet.

You are allowed 1o use a calculaior.

www.testpapersfree.com




Questions 1 to 5 carry 2 marks each. Show your working clearly and write your Do not write
answers in the spaces provided. For questions which require units, give your in this space

answers in the units stated. (10 marks)

1. A chef bought a total of 9 kg of prawns and fish. He cooked 3.855 kg of
fish and had % of the mass of fish left. What is the mass of prawns he
bought?

Ans: kg

2. The figure below is made up of a quadrant and 2 identical semicircles of

radius 10.5 cm. Find the perimeter of the figure. (Take n = __Z??_)

Ans: cm

{Go on to the next page)
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Since January, David deposils his savings info his bank account every Do ;'ot write

X 5 . . _— b in this spa
rnontdt. The graph below shows the amount of money in David’s banl: Sl
account at the end of each meonth from January io May.

$2,000 { t

$1,800 l E —0
$1.600 M—
$1,400 S o

$1,200
$1,000
$800
$600
$400

$200
$0

Amount of Money

Jan Feb Mar Apr May
Menth
Given that David’s monthly salary is $4500, what percentage of David’s

salary did he save in March? Express your answer as a fraction in its
simplest form.

Ans: %

Peter must score an average of 85 poinis for 3 games in order to win a
prize at a funfair. Peter scored 68 points and 72 points for the first 2
games. What is the least number of points he needs to score in the 3rd
game to win a prize?

Ans:

[T R - .
(Co on {o e nexd page)

]
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5.

Mrs Yip had 615 red pens and 549 blue pens. After selling twice as many

blue pens as red pens, she had a total of 363 pens left. How many red
pens had she left?

Ans:

(Go on to the next page)

Do not write
in this space
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For guestions & to 18, show your working clearly and wrile your answers in the
spaces provided. The number of marks available is shown in brackets [  Jatthe
end of each guestion or pari-guestion.

{50 maris})

6. The figure below consists of a square and a circle with diameter of 6 cm.
What is the area of the unshaded part? (Take = = 3.14)
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Ans: [31

T Ben received $1.50 more pocket money than Jernry daily. Each boy spent
$2.20 a day and saved the rest. When Jerry had saved $28.80, Ben had
saved $24 more than Jerry. How much pocket money did Ben receive
daily?

Ans: {31

(o i it e NSl page)

Do not write
in this spacs
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A rectangular tank measures 34 c¢cm by 52 cm by 16 cm. Alice managed to
fit in a total of 56 identical cubes into the tank before covering it with a lid.
This was the greatest number of such cubes she could fit into the tank.
Given that the length of one side of the cube is a whole number, find its
length.

Ans: [3]

(Go on to the next page)

Do not write
in this space
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9. Weiming is 7 years old now. His mother is 1 year younger ihan his father. | Do not write
In 4 years’ time, Weiming's faiher will be twice Weiming’s age. How old is | ™ fVs space
Weiming’s mether now? Express your answer in terms of 7.

Ans: [3]

(Go on to the next page)
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In the figure below, ABCD is a rhombus. ZEDB = 97°, ZFEG = 110° and %’{g}g‘;ﬁz
£BAD = 66°. Given that GED, FEC and FDB are straight lines, find ZFCD. e
F
D A
110° 97° 66
E

G C B

Ans: [3]

(Go on to the next page)
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Do not write

Steven and Tom siaried cycling 2t the same time along & 6.5 fun wack. Pl
in this spacs

Both did not change their speeds throughout the wiwle journey. Steven
cycled at a speed of 30 m/min faster than Tom. When he reached the
end of the irack, Tom was 600 m behind him. What was Tom's cyeiing
speed in m/min?

Ans: [4]

{Ge on to the next page)
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12.

Meifen has a number of 10¢, 20¢ and 50¢ coins inthe ratio of 8 : 3: 5
respectively. The total value of all the coins is $195.

(a) Meifen spent half the number of her 50¢ coins. Find the new ratio
of the number of 10¢ coins to the number of 20¢ coins to the
remaining number of 50¢ coins.

(b) What is the total value of the 20¢ coins?

Do not write
in this space

Ans: (a) [1]
(b) [3]
{Goon 1o the next page)

]
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Mrs Tang had some money. She used $53 to pay for 4 identical iarge
potied plants and 7 identical small potied plants.

If she bought another large potted plant, she would be short of $3.80.
If she bought another small potted plant, she would have $1.50 left.

a) What is the difference in price between the large and the small potted
plant?

b) Find the price of one large potted plant.

Ans: (2) £11

(b) [3]

{Go cn o the next page)

Dao not wiiie
in this space
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14.

Every month, Jevier spends % of his salary on food, g of the remainder on
rent and saves the rest of his salary.

(a) What fraction of his salary does Jevier save?
Give your answer in the simplest form.

(b) Jevier is saving to buy a laptop that costs $4000. Given that he spends
$1200 on food every month, how long will he take to save in order to
buy the laptop?

|

Ans: (a) __ | (2]

(b) {3]
(Go on to the next page)

Do not write
in this space

11
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5.

The figure below shows 2 reciangutar tanits, A and B. Tanlt A has a base
arsa of 30 cm? while Tank B has & base area of 90 om?.

Tanlc A Tank B

a} Tank A conizined water to a height of 47 cm. What was the volume of
water in Tank A?

b) Tank B was empty at first. Alvin tumed on the tap for 6 minutes, allowing
water fo flow at a rate of 95 cm¥ min info Tank B. Then, he poured some
water from Tank A into Tank B until the height of the water level in Tank B
was the same as the height of the water level in Tank A. Find the height
of the water level in Tank B.

Ansi(a) [11

(b} [4]

20 A 0 dae et oot

Do not wiite
in this spacz
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16.

Do not write
in this space

In the figure below, ABC is an isosceles triangle and EFGC is a square.
ZCDE =20° and ZBAC = 88°. DCF is a straight line.
(@) Find ZFCA.
(b) Find £DEC.
A
980 D
c/ 20
B G
2 E
Ans: (a) [2]
(b) [2]
(Go on to the next page)
13
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7

WMr Lau bought a tennis racket and a bag at discounted prices. He spenta F)ff not write
fotal of $168.75 on the two Kems. The ratio of the amount Mr Lau paid for the | 1 ihis specs
fennis racket to the amount he paid for the bag was 2 : 1.
{a2) Find the cost of the bag after the discount.
(b) The total discount given for the two items was $31.25. Mr Lau was
given a 10% discount for the tennis racket. What was the percentage
discount given for the bag?
|
i
Ans: (2) [11]
{b) [4]
T L L Al
AT S A LRSS 306G
14
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18. Numbers are written in order beginning from 1 as shown in the pattern below. | Do not write
’ in this space
Row 1 _1—
Row 2 2 (3|4
Row 3 567|809
Row 4 0|11 (1213 (14 | 15| 16
Row 5 : 74
Row 6 N
Given that the pattern continues, _ \‘

(a) find the number represented by the letter N.
(b) find the greatest number in Row 8.
(c) find the number in the middle of Row 12,

Ans: (a) (1]

(b) [1]

(c) [2]
End of Paper

Setters:
Mrs Josephine Lai, Ms Grace Chan, Ms Yew Hew Mei, Mr Yip Yew Fei and Mrs Norah Idil

15

www.testpapersfree.com J



www.testpapersfree.com

PRELINMINARY EXAM PAPER 2017

SCHOOL : HENRY PARK PRIBMARY SCHOOL
SUIBIEECT : PRIRZARY G MATH PAPER 1 BOOHIETAE B
TERRI : PRELIRRINARY EMAMINATION 2017
Paper 1
Booklet A:
Answer:
Qi Q2 Q3 Q4 Qs Q6 Q7 Q8 Q9 Q10
1 3 2 1 2 3 i 4 4 1

Qi1i | Qiz2 | Qi3 | Qi4a | Q15

2 1 4 4 2

Paper 1
Booklet B:

16) Ans: 50 000 17) Ans: 60 18) Ans: =

19) Ans: 1.90 20) Ans: 26cm?

21) Ans: 3:23 22) Anszg 23) Ans: 79° 24) Ans: 75° 25)Ans: 332cm  26) Ans: 12

27) Ans: 116° 28) Ans: $4 29) Ans: 2512cm  30) Ans: 75
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PRELIMIINARY EXAM PAPER 2017

SCHOOL : HENRY PARK PRIMARY SCHOOL
SUBIECT : PRIMARY G MATIH PAPER 2

TERM : PRELIRZINARY EXAMINATION 2017
PAPER 2 ANSWER

Question 1:

3.855+3=1.285

1.285 X 4=5.14

9-5.14 =3.86

Answer: 3.86kg

Question 2:
10.5+ 10.5= 21

21x 3?3 X g =825
82.5+ 10.5+10.5=103.5
Answer: 103.5cm

Question 3:

1500- 1200 =300

300 100 _ 2
4500 T 3

2
Answer: 6;

Question 4:
85-68=17
85-79=6

17 + 6+ 85= 108
Answer: 108

Question 5:
615+ 549 = 1164

1164-363 =801
801 +3 =267
615-267=348
Answer: 348

www.testpapersfree.com



Question 6:

bx 6=36
26+2=18
3x3x3.14= 28.26
28.26-18= 10.26
Answer: 10.26cm?

Question 7:

24 +1.5=16
28.80+16=1.8
1.8+202+1.5=5.5
Answer: $5.50

Question 8:

A ..‘L

3¢x rzx!&i;—j el

(3?'—.1)xtf’-?‘1)"‘5(
PLER ,3}7 ~
(W= 3) 2 (5733) 4y

Answer: 7¢

Question 9:
F+4+F-4-1
Answer: (2F +3) vears old

www.testpapersfree.com



dpngy  ppric Pretim)
Question 10:

??«'-.'i' IR
180-66=11

114 +2=57

180- 97=83
180-110=70

180- 70- 83= 27
180-57-27 =96

96- 66=30

Answer: 30°

Question 11:
600 + 30 = 20 min for the race

500 = 20=325
325+30=295
Answer: 295m/min

www.testpapersfree.com



Question 12:
0.1x 8=0.8
0.2x3=0.6
0.5x5=2.5
2.5+0.8+0.6=3.9
195 +3.9=50
50x 8= 400

50x 3= 150
400:150: 125
80:30: 25
16:6:5

150x 0.2=30
Answer: a) 16:6:5 b) $30

Question 13:
1.5+3.5=5

53- (5x4)=33
33+11=3

3+5=8

Answer:a) $5 b) $8

Question 14:

5 1

15 3
1200 + 6=200

4000 + 200= 20

20+5=4

Answer: a)-g— b} 4 months

www.testpapersfree.com




H{?f‘“‘?\[ DaEl Peglann

Question 15:
Tank B:90x 1=580
Tank A: 30x 1=30
47y 30=570
570 + 90= sé

L_ 402
47; 65 = 40-
40%x 30 = 1220
1220 + 12= 101%
101-3"’- X9 =915
101% x 3 =305
305 + 30= 10§
915 = 90= 10%
10% + 5-;;: 16.5
Answer: a) 1410cm?® b) 16.5cm

O.uest_iqn 16:

180-98 =8
82+2=41

45+ 41 =86

180- 48= 135

180- 135- 20= 25
Answer: a) 86° b) 25°

www.testpapersfree.com



. Question 17
168.75 +3 =56.25

56.25x2=112.5
1125+9=12.5

30.25 - 12.5= 18.75
56.25+ 18.75=75
75+100=0.75
18.75+0.75=25%
Answer: a) $56.75 b) 25%

Question 18

Row 1
. Row2

* Row3.

P

Rows i ETa IER O B

RD- w6 16 1.7 '-‘q v

Hl
Given thal the pattern continues,

e

Answer:a)31 b)64 c)133

END

T PR
B g ¥
i
va
P ] ¢ R
N e S Ty caly
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